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1) dependency
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4) mercantilism

5) modernization
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3.(a) Explain in words why consumer surplus and producer surplus can be used to measure the
welfare of an economy. (10%) (b) Based on your answer, critically compare the welfare of a
market economy and the welfare of a planned economy. (10%)

4.A firm has two variable factors and a production function.
flx,x,)=42x, +4x, .
If the price of the output is 4, the price of factor 1 is 2, and the price of factor 2 is 3, find: (a) the
profit maximizing amount of factor 1; (b) the profit maximizing amount of factor 2. (10%)

5.Two individuals, A and B, are free to engage in trade of clothing and food. Initially, A has 12
units of clothing and 9 units of food, and B has 8 units of clothing and 11 units of food. The
individuals have the following utility functions in clothing C and food F:

UA =0.15QC - QF
_ UB =0.08QC - QF
where QF represents units of food, Q( represents units of clothing, and U represents utility. .

(a) Determine if a mutually beneficial trade is possible between A and B. (5%)
(b) If a mutually beneficial trade do exists, who would trade for what? Explain. (10%)

6.There is a significant amount of asymmetric information in the health insurance market. For
instance, the problem of “adverse selection” exists between insurers and insurees. List some
methods that have been adopted to eliminate this problem. (5%)







